| N of associated (recoToSim) looper tracks vs dxy |

[\ of associated (recoToSim) tracks vs dxy |

5 10 15 20 25

05 =50-15-10 =5 0

5

| N of associated (recoToSim) looper tracks vs dz |

25-20-15-10-5 0 5 10 15 20 2

0.95!

N of reco track vs dxy

n
I
o
I
)
—
o —
— 3
[ts) H
£
o ¢
P :
3 .
o .
b H :
[t} g N
— = .
| 3 N
o £ . H
. Iy g : .
. s h e i ; .
PR PTEITE P PPE PTTETE ITTREE ™ 1 TR IR T 1
5 N S - D S =
=1 = =1 - O_mﬁm =] 2 = -
< —
1]
E=
odey
RS
i
=
£

TT__mKFI

BEOM
DQi

r)
o
—

095 =50-15-10 -5 0 5 10 15 20 25

N of reco track vs dz




	Contents
	Page 1


